
Exponential and Log Graphs 

June 2015 

Question 33 
	

a) 2 marks b) 1 mark 

a) Sketch the graph of x) = tog 

b) Sketch the graph of 
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b) Sketch the graph of y = 2 
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Question 18 	 1 mark 

The x-iiitercept of the .graph of y = x -1 is: 
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Question 26 a) 2 marks b) 1 mark 

a) Sketch the gaph of y = 
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Question 34 	 a) 2 marks b) 1 mark 

a) Sketch the graph of 	= 3x  ± 1. 
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b) Sketch the graph of f —I  (x). 
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d) x = 14 

1 mark 

kitzkos.z(no-b) 

kc. 
i t„ 	x 

s = A 

Question 35 	 2 marks 

Determine the x-intercept and Wv-intercept of y = 10.2 (1: 4 ) —1. 
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Question 17 

The graph of y = log. 	2x + 6) intersects the graph of 

a) 	x = —1 	 b 	x=1 

Question 19 

y = 4 at: 

= 

The graph of y = 
1 

I— I 	compared to the uaph of x 
1 Y  
) 

is a: 

a) reflection in the x-axis 

b) reflection in the y-axis 

reflection in the line y = x 

d) reciprocal function 
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Question 23 	 1 mark 

The graph of the function f (x) shown below is best described by the equation: 

a) f=2 3 b) f (x) = 2 x  ÷ 3 c) f (x) = 2x 3  
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f(x) = 2 x  — 3 
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Question 23 	 1 mark 

Which equation is represented by the ,graph sketched below? 
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Question 40 a) 2 marks b) 2 marks 

a) Sketch the graph of y = In (s). 
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b) Sketch thc graph of v = —ln x — 
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Question 24 
	

I mark 

Identify the value of the x-intercept of the function = 	- — 	t•j_k_Cf31_•v1" -2—  • 
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Question 30 	 a) 2 marks b) 1 mark 

a) Sketch the gaph of y = 3.  

b) Explain how the graph of y = 3 x  can be used to sketch the graph of y = log, x. 
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d) (— 

45. Sketch a clearly labelled graph of y = 	7 + 
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20. The range of the function 1-  = 2 	3 is: 

b) 
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14. Find the y-intercept of 	= 	. 
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d) y = 0 

18. State the equation of an asymptote for the graph of f 

y= o  

x = 0 

c) y = 2 

ci x = —2 
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s-m 	. 
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36. State the domain for the graph of the following function: 

y log" (x + 3) S 4-1-"S 44" 	"-I  ) 
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43. Sketch a clearly labelled graph cif 

a) y = .31  
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b) 	— 
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34. Sketch the graph of y = . 

41. Sketch a clearly labelled graph of: 

a) y = log 
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x 
11. The y-intercept of v = e 	+ , 

a)  0 

b)  1 
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CI) 4 
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25. Which of the following graphs represents y = —2 ? 
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